Mathematik | Einheiten

Langeneinheiten
Einheit
Millimeter
Zentimeter
Dezimeter
Meter

Kilometer

Flacheneinheiten
Einheit
Quadratmillimeter
Quadratzentimeter
Quadratdezimeter
Quadratmeter
Ar
Hektar

Quadratkilometer

‘mm

1100

Volumeneinheiten
Einheit
Kubikmillimeter
Kubikzentimeter
Kubikdezimeter
Kubikmeter
Milliliter
Liter

Karzel
mm
cm
dm

m

km

‘mm

110

Karzel

mm?

cm?

dm?

m2

a
ha

km?

: 100

°cm

‘mm

: 1000

Umrechnung

1 mm =0,1cm =0,01dm = 0,001 m = 0,000.001 km
10mm=1cm=0,1dm =0,01 m=0,000.01 km

100 mm =10cm =1dm =0,1 m = 0,000.1 km

1.000mm =100cm =10dm =1 m =0,001 km

1.000.000 mm = 100.000 cm = 10.000 dm = 1.000 m = 1 km

: 10 1.000
edm okm
°Cm °m
: 10
Umrechnung
1 mm?=0,01 cm? = 0,000.1 dm?2 = 0,000.001 m?2
100 mm2=1cm?=0,01 dm?=0,000.1 m?
10.000 mm?2 =100 cm? =1 dm? = 0,01 m?
1.000.000 mm? = 100.000 cm? = 100 dm? = 1 m?
100 m2=1a =0,01 ha =0,000.1 km?
10.000 m?=1004a =1 ha = 0,01 km?
1.000.000 m? = 10.000 a = 100 ha = 1 km?
2 :100 :100
edm om? 3 oha
: 100 :100
Umrechnung

1 mm?3 =0,001 cm? = 0,000.001 dm? = 0,000.000.001 m?
1.000 mm =1 cm3 = 0,001 dm? = 0,000.001 m?
1.000.000 mm? = 1.000 cm?® = 1 dm?® = 0,001 m?
1.000.000.000 mm? = 1.000.000 cm? = 1.000 dm3 =1 m3
1 ml=0,0011=0,001 dm3=0,000.001 m?
1.000ml=11=1dm*=0,001 m3

: 1000 :1000

3 edm
cm ‘m

: 1000

-
Schlaufuchs Ber\in

=g

Potenz
1073
1072
1071

103

Potenz
107
1074
1072

102
10*
106

Potenz
1072
1076
1073

107
1073
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Zeiteinheiten
Einheit
Millisekunde
Sekunde
Minute
Stunde
Tag
Woche
Monat
Jahr
Jahrzehnt
Jahrhundert
Jahrtausend

Jahrmillion

Geldeinheiten
Einheit
Cent

Euro

D-Mark

Kirzel

Jz.
Jh.
Jt., Jtd.
Ma

Schlaufuchs Ber\in

Umrechnung

1ms

1.000ms=1s

60.000 ms =60s =1 min

3.600.000 ms=3.600s=60min=1h

86.400.000 ms = 86.400s =1.440min=24h=1d

604.800.000 ms = 604.800 s = 10.080 min = 168 h = 7d = 1 Woche
28bis31d=1m

365/366d=12m=1a=0,1Jz.=0,01Jh.=0,001 Jt. =0,000.001 Ma
120m=10a=1 Jz.

1.200m=100a=10Jz.=1 Jh.

12.000 m = 1.000 a = 100 Jz. = 10 Jh. = 1 Jt.

12.000 m = 1.000.000 a = 100.000 Jz. = 10.000 Jh. = 1.000 Jt. =1 Ma

Kirzel
ct
€

DM

Umrechnung

1ct=001¢€

100ct=1€

51,129 ct=1 DM =0,511.29 €

ol ke

N

=

Potenz

10 a
10%a
10%a
10%a

Potenz
1072 €



